CH 14 Q1-11
Q1) You have learned that nitrogen, potassium and phosphorus are all “fixed” in the soil. Compare the processes of these fixations and the benefits and constraints they each provide. 

Q2) Assume you add a soluble phosphate fertilizer to an Oxisol and to an Aridisol. In each case, within a few months most of the phosphorus has been changed to insoluble forms. Indicate what these forms are and the respective compounds in each soil responsible for their formation. 

3) How does the phosphorus content of cultivated soils in the United States compare with that of nearby forest soil which have never been cleared? What is the reason for this difference?

4) What is meant by eutrophication, and how is it influences by farm practices involving phosphorus? 

5) Which is likely to have the higher buffering capacity for phosphorus and potassium, a sandy loam or a clay? Explain. 

6) In the spring a certain surface soil showed the following soil test: soil solution K= 20kg/ha: exchangeable K = 200kg/ha. After two crops of alfalfa hay that contained 250kg/ha of potassium were harvested and removed, a second soil test showed soil solution K= 15kg/ha and exchangeable K = 150 kg/ha/ Explain why there was not a greater reduction in soil solution and exchange able K levels. 

7) What is the effect of soil pH on the availability of phosphorus, and what are the unavailable forms at the different pH levels? 

8) What is luxury consumption of plant nutrients, and what are its advantages and disadvantages? 

9) How does phosphorus that forums relatively insoluble inorganic compounds in soils find its way into streams and other waterways? 

10) The incorporation of large amounts of wheat straw into a soil may bring about P deficiency in the following crop. What is the likely reason for this?
11) Compare the organic P levels in the upper horizon of a forested soil with those of a nearby soil that has been cultivated for 25 years. Explain the difference. 
